N = 0 &8 AF S & Al A
2000 &= =20l & LEgH|
SN S0
M &S A
el BWE Mdfnel (et @)
SH-EH . O3 - MBAY - BAS 0f Ao Soe HRZ2
SR 56,728,585 58,109,574 1,380,989
= 34,375
= 52,241
= 33,390
Al 56,608,579
SAS &2 98,252 65,287 32,965
S48 822 98,252 65,287 32,965
SHE A2 98,252 65,287 32,965
201 Y2yl 2,240 58,980 56,740
01 AtR22ld] 2,240 56,180 53,940
ogdsY 2,240,000 2,240
308 AXISHHMSOIHA 96,012 0 96,012
08 JIEIBEEY= 96,012 0 96,012
OXLlg - HXNHME S8HRES
96,012,000 96,012
Ny A2k 25} 4,208,551 4,369,359 A 160,808
= 14,575
== 33,390
Al 4,160,586
SIE 2M X MH 23t 709,574 681,765 27,809
= 6,720
Al 702,854
NS =2 4 160,000 60,000 100,000
== 6,720
Al 153,280
308 AXIEHXSOIA 70,000 60,000 10,000
= 6,720
Al 63,280
07 HbZsdAJAZAEX 70,000 60,000 10,000
OoXdodl = 4 70,000,000& 70,000
== 6,720
Al 63,280
401 AlZHIZLE204b] 90,000 0 90,000
01 Al&H] 90,000 0 90,000




SN SR
g Ngdy Az 2
tel: RIIFel 2N X MM 23 (S & 3)
_ = HET
A3 (3) - NRAIY - BES &h el Ol AF o8 BlusZ
oolblz st 22 (3
90,000,000 90,000
dF=UEFA 294,319 279,234 15,085
101 QI2H| 9,301 8,674 627
10 JIZHIZ2NSES 9,301 8,674 627
O=ZY NI A 9,301
cFY 32,0002 »14H =20 8,960
ol ATMHEEE 8,960,000 +3.8% 341
201 ZetEgll 165,700 157,000 8,700
01 AtR2eldl 73,200 68,000 5,200
Oggt=2H| 52,200,000 52,200
o=l 15,000,000 15,000
oYyxz 6,000,000 6,000
02 s==2gd 82,500 79,000 3,500
O3 32=ZHMAl 57,500
o= €5R= 53,500,000 53,500
o= ANZZ+ES RES
4,000,000 4,000
OXr&E &8yl 25,000,000 25,000
03 AL=EHI 10,000 10,000 0
O=MIHEAl &2 A 29
10,000,000 10,000
202 OfH] 47,318 46,560 758
01 =UW0odbl 47,318 46,560 758
OZAEHNYI 47,318,000& 47,318
203 €=y 49,000 42,000 7,000
03 AHFIYPIFIH 49,000 42,000 7,000
0A=J1g ENRI 20 4,000,000 4,000
O -5d NIHZATA WFSH 2=
& 4,000,000 4,000
OF2 - & & 2A2
3,000,000& 3,000
OANE - ANBEE ZFFT 4,000,000 4,000
OZgd AH ge=a 3,000,000 3,000




2AM: S22
Yy Az 25
=

CH2l: QI|Ee EM 88X MM 23t (42 &)
S BB SR (B ) - MRAY - BAS Ofl At o d 5 HR=2
FEEENR EE EEEEEET
5,000,000 5,000
ONASHE BHEF AREA
5,000,000& 5,000
ONMHET=H E8 HRE=X 6,000,000 6,000
OMENE 4 2= 4,000,000& 4,000
OXNGEN &43 dR=X 8,000, 000& 8,000
OSeeAsE s FRFA 3,000,000 3,000
301 et Az 23,000 25,000 A2,000
07 0QI2+01=22/ (4 H]| 8,000 10,000 A2,000
O2ASEWE 012+l S0l
8,000,000 8,000
08 2Bl==0H| 15,000 15,000 0
OXNMEA(YLE 0IRQANWEE ZAXTHN®HI
15,000, 000& 15,000
ES 2REE A 87,013 66,599 20,414
101 QI H| 68,513 52,099 16,414
10 JI2tHIZ2Z2XNsEES 68,513 52,099 16,414
OTUAG Ee2lAH2Y) 32,302
SIE 41,7809 22 +2332 19,470
e 41,7809 x2 »432 4,011
SOIRteY 41,7801 %22 * 152 1,254
oA RRAL
7,8403 %2 x20 Al 2tx 128 3,764
oRYAI S 4YBEE
23,481,000 «13% 3,053
o= 750,000& 750
ORUAIE X2|AH3H, 7.188H) 36,211
SYolp-—gell 41, 780& *3H x 125! 15,668
o FEXLEE 41,7803 x3H 26 3,259
o AZ2IA2E2LE 7,840 *3H 20 Al 2H*x6E 2,823
oD S 4HEEE
18,927,000 *13% 2,461
o gl &Z 4,000,000& x3H 12,000
201 Y2yl 11,000 7,000 4,000
01 AFR222|H| 11,000 7,000 4,000




FA S0
g Ngdy Az 2
tel: RIIFel 2N X MM 23 (S & 3)
- _ = MU
SN -3 S2ARAH) - MFAY - BES Ol &F 8 Ol AF o8 BlusZ
oge+3t| 11,000,000 11,000
306 A= 7,500 7,500 0
01 &%= 7,500 7,500 0
OXNYXXEH =Mt 2=
7,500,000 7,500
JEs &c H gt 29 148,242 260,932 A112,690
201 LetEgll 15,600 15,000 600
01 Atz el 9,600 9,000 600
oget+=SH| 9,600,000& 9,600
02 5244 6,000 6,000 0
OA 2 &HIS X H| 6,000,000& 6,000
203 SFFAH 3,000 0 3,000
03 AHFUHPIRFIH 3,000 0 3,000
OBAIZ2 BREAY PR
3,000,000& 3,000
207 AA-ofey 84,000 235,290 A151,290
02 X A&HIHEHI 84,000 235,290 A151,290
OZAMItZ2 0/B REAY SAHI
84,000,000 84,000
402 RI2EX201H 10,642 10,642 0
02 CI2HCHEH AL 10,642 10,642 0
Otz AlAE =2 7,382,000 7,382
Oltza T2 8 Rl 3,260,000& 3,260
405 XhokF S| 35,000 0 35,000
01 MM =SSFHSH 35,000 0 35,000
Oga == SAAMI| WAl
35,000,000 35,000
2N L oS 2 HES 20,000 15,000 5,000
308 AXIHMSOIA 20,000 15,000 5,000
07 OblzZsSdXNdBSEXL 20,000 15,000 5,000
oSggAE 2dH XA 20,000,000 20,000
SHSNSA L RFADIIEE 1,964,970 1,640,865 324,105
4 SAAH =X 1,862,970 1,499,605 363,365
201 Ler2gy 123,000 135,000 212,000
01 Ars2telbl 116,000 130,000 214,000
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X XH .
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chel:

_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
CETEET 1,000,0002 1,000
CEEImE= Tt 30,000
oBMSE NANHE ASDS
30,000,000 30,000
CEF-EH= 78,000
o - HE ALY 78,000,000 78,000
o3zl 7,000, 0002 7,000
02 ZZ2Y| 1,000 0 1,000
OZZRILAA 1,000,0002 1,000
03 A2 6,000 5,000 1,000
OXAMSHE M 6,000, 0002 6,000
202 OiHl 120,000 160,000 40,000
VEEFEGTT 120,000 160,000 40,000
OBLY HHeAtheis 20,000,0002 120,000
301 YB3 9,800 19,000 A9,200
12 JIEE AR 9,800 15,000 5,200
OSIX(BE)BRY JIEE 2
9,800, 0002 9,800
303 EAD 1,598, 170 1,175,605 422,565
01 ZA2 1,598,170 1,175,605 422,565
OXY A (FRONBSLY 338,760
SOA| 186,000 *40% *122 89,280
S 1Al 63,5002 *40% * 122 78,480
S2H 35,0002 30 * 122 48,600
o3Al 92,5002 x20% * 122 22,200
SAKI~5H 83,5002 %100 * 122 100,200
OXNT HEUNZI AL 1,148,110
oY HHEH 70,0002 *1,073% 182,410
oXtIIMY, HOME, A2 S
900,000 +1,073% 965,700
o= HOAS 100,0002! +873% 87,300
OFIDEZ2R HAX A3t
40000021 +50% 20,000
OZLH MEUHE ALE 4,000,0002 4,000




of
’J
oF
oJ

ROR
RER
OF 20 X0
0 =< ok

= A
)

X ZH

00J

C]

o | o o o |o o o o |o o |o o |o o |o (ep)

o o o o o © [e@] (o] o o (@) (@] o o —

S| S| S S SN il b S S S S (S N~
-

e [eleE & [3[EE 1 e IEE
cimm, 8|8 S g| 8|3 @ |o @ | S| 3
o
uiled
RI=

g1 8|8|g|18 8 8 8 8|g8|g|18 8 8 8 |g|18 8 8 g8 |glg8 B8 g|glg g|e

RN o 2l o o % % Nl g % < % = Nl ® w©w © |©o — — | o lw e} M
3
<
=

B0 w o o W oW o W oW W W o W o
o () (@) o (@) o (@) (@) o o (@) () o o
o o o o o o o o o o o o o o
Y S S S S S 3 S S S S S S =1
Gir o S 8 3 S 8 8 S 8 8 S 8 S 3
X0 S S S S S S S S S 3 N © ~ =1
m-._ m (ep] A L0 < Lo (@) < [ep] Lo o, (V) — Te)
Oq ™ A - <0
° © < <0 =
= " _ _ x . = e
< R g K r L =z _
o+ i - KF KF < E
= i = - ol
= ~ ok Ok X <k
) it B o 3l T oo Pl
— 0 e = = o & ol y G
= S % AT IS M o K E
o] o o Koo 2w K _ o m 3
— ok =l Al _ e wr < a1 R0 KJ mE K il B
| ok |D|E = 5 o 2z 3 5 _[Zja R ¥ m IR B - A
al = sl D 00 30 of alon D o or o __MT R0l ®mO T 0 IS 0o oo R= =
- | S| &= Dl & = W w Slalm & 3« A L U T - 1 Sl = =
= m_ w= ME m____ o B W0 =X o n m___ O B W 8 RS 0 3r _M; 20 4D ol ol m_ ™ R 5
O e b I I O T G I B -l T Il e T S E I Y L
. © o | — ©@ O © 3| — © O 0 © O 0 © © © ©

W « o 1= @ - o |= % @ % = _nw x T
T k=) o & |o S dl & |o =) S |o S |o o)
o (H0 o ok

Mo




FA S0
g NGy Az 2t
tel: SR s3I A (S & &)
- _ = MU
SN -3 S2ARAH) - MFAY - BES Ol &F 8 Ol AF o8 BlusZ
NS Y 161,000 301,000 140,000
201 Ler2gy 59,000 59,000 0
01 Ars2telbl 59,000 59,000 0
CE el 45,000
cHMEE B Y B NSEH T
§FE= 45,000,000 45,000
ozg+¢ 14,000
o NS I 10,000,000 10,000
SHEETNS AHBAMR 4,000,000 4,000
202 o4 34,000 34,000 0
04 =HN=tobl 34,000 34,000 0
OE=0l Uy =4X =2d 4,000,000 4,000
OFISNF ()= 30,000,000 30,000
303 Ea= 8,000 158,000 A150,000
01 2= 8,000 158,000 150,000
OREEFE ANdE 7Y 30,0003 200 6,000
QLSS0 U ANd=8 # 2,000,000& 2,000
308 XXEHMSOIN 60,000 50,000 10,000
05 XXEM2AFE= 60,000 50,000 10,000
ONLSFE WFEEH FE=S 60,000,000 60,000
St 2A 2E 332,705 533,418 A200,713
101 212 42,850 26,178 16,672
10 JIZHIZ2NSES 42,850 26,178 16,672
OE4EIt UA 42,850
cFY 32,0002 » 15 66 31,680
ox=Xtxg 32,0003 152 »13& 6,240
o=0os S 4HEER
37,920,000 *13% 4,930
201 LetEgll 19,600 14,600 5,000
01 Ar=2eldl 19,600 14,600 5,000
oget+=SH| 5,000,000& 5,000
ozg=+¢ 14,600,000 14,600
203 ERFAY 4,000 4,000 0




FA S0
g NGy Az 2t
tel: SR s3I A (S & &)
_ = HET
SN -3 S2ARAH) - MFAY - BES Ol &F 8 Ol Ak O BlusZ
03 AIHFIHRFAH| 4,000 4,000 0
OoAIEE HeFT 4,000,000 4,000
207 S1RIRLH 26,250 0 26,250
02 MADHEHI 26,250 0 26,250
OEIX X IALNZ DB =H 24,000,000 24,000
ORIIAAZZN AAXE 0BPH
2,250,000 2,250
307 21z2told 240,005 488,640 A\248,635
05 2SS 240,005 488,640 248,635
O3 2RVNE 21NUH H&3
240,005,000% 240,005
A2lster & AlE &30 |RE 1,040,302 1,212,311 A172,009
= 14,575
< 26,670
Al 999,057
s RERAB=SE 8,209 21,470 213,261
= 8,209
101 QI2H| 5,500 14,124 A\B,624
= 5,500
10 JIZHNZ22NSE* 5,500 14,124 28,624
OLMBEs LHMSALN Ja7F ZA
5,500,000& 5,500
= 5,500
201 LetEgll 1,209 3,141 21,932
= 1,209
01 Ars2telbl 1,209 3,141 21,932
OLMBEs 2MSALN Ja7F ZA
1,209,000& 1,209
= 1,209
202 01d 1,500 4,205 A2,705
= 1,500
01 =UW0odbI 1,500 4,205 A2,705
OLMBEs MSALN Ha7F ZA
1,500,000& 1,500
= 1,500
2 M2 Nl S 3 1l o A+ X & 6,366 0 6,366
= 6,366
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2AM: SR
Ha: Qg8d A 23t
Sl AlRIEIE 2 AR BHO RE (CHol: &)
A -3 -H2A(SH) - HEAMY - BES O AF K gl,'igig Hlws2
olagsaAg XA Al 17,150
301 utEa= 10,780 10,780 0
& 5,390
Al 5,390
02 Hst=2stiza 10,780 10,780 0
OMOIZX X ItEHEE 2 10,780,000& 10,780
& 5,390
Al 5,390
402 BIZ2EX =0l 16,800 16,800 0
= 5,040
Al 11,760
01 BIZEXI=22 X 16,800 16,800 0
OAEe & DH™=FD| 16,800,000& 16,800
& 5,040
Al 11,760
NEAHF=E 514,550 689,871 A 175,321
101 ol t| 69,090 83,241 A14,151
10 JIZtHZ2Z2NSES 69,090 83,241 A14,151
OU&M HE Ot2HI0IE 59,789
=0lLQ 32,0003 60 30 57,600
oM HMAHEEZ 57,600,000 *3.8% 2,189
OsdH=s &3 &F| 9,301
ool 32,000 »28H =10 8,960
olATHHEE = 8,960,000 *3.8% 341
201 Letd| 92,120 87,000 5,120
01 AtR2teltl 49,000 37,000 12,000
Oget=EH| 42,000,000 42,000
o=l 7,000,000& 7,000
02 ==29gtl 17,120 24,000 6,880
O33R MA 2,000,000& 2,000
OAl &&= XYl 15,120,000& 15,120
03 A2l 26,000 26,000 0
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FANERD

mu: ey oy 2

CHol: AIDISHE 2 AR B0 S& (crol: & 2)
SN HB SR (BIH) - A - B S 0l &b S D=2
- = T - = S = &= 0:”/&,% WS

16,800,002 16,800
OMOISXISR DS BAX AlHI2A 16,100
cEYNS 7,000,0002 7,000
o% ng 1,600,0002 1,600
o™= MOFSXE XS] 3,500, 0002 3,500
oXHMRS U CHECHE A 4,000,0002 4,000
OHIZHAIISE D] HAX MY DA 7,400
oZYNS L M25| AN
70,0002 *30% x23] 4,200
o W Y ALIAMSE 40,0008 *80L 3,200
OBRNRENY DT AKX YIS 6. 100
ozYnT 2,100,0002 2,100
o NF ¥ AN 4,000,0002 4,000
ORFBE SUIIY L AR Q&3 &
URATY PN, 4,200,0002 4,200

Ofl=EssY u=s 4L AHl24

3,200,000& 3,200
06 == 25,000 25,000 0
01 &¢= 25,000 25,000 0
Og=1LFEeE)I=s £¥= 25,000,000& 25,000
307 g2I2tol & 94,150 107,950 A 13,800
02 UAHAEX 47,150 39,950 7,200

ONMSZgXS HXIoiAt XNJALH K&
20,000,000 20,000

OXBoll Mdl+= M= 24l K&

2,000,000& 2,000
OMOIESE1 OlsEAM2 2ZH X2 3,150
o X=Xl X 1,800,000 1,800
o2de@ SAHl X 5,000& 270 1,350
ousdll =4 &z XA
7,000,000 x13] 7,000
o0& &itg M=tz K&
15,000,000& 15,000
04 GCIZHALE X 47,000 68,000 221,000
Otl=d3sd FXMU At X&
2,000,000& 2,000
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SA
X XH .
(=

chel:

_ _ _ Muo
SN EB -GS - MBAY - BES 0l &k 24 e HRE2
OPZHIEY 2o=N A Aa
7,000,000& 7,000
Ol S0l #AHl K& 28,000,000& 28,000
OAMIAHR Sl & HAHI XI& 10,000,000& 10,000
401 AIEHIZ =0 8,000 195,000 A 187,000
01 Al&HI 8,000 195,000 A 187,000
OMOtS 2&0 &4 8,000,000& 8,000
405 KHeHHE SHI 50,000 42,000 8,000
01 L SESFHSHI 50,000 42,000 8,000
ogds =¥ &JI+Y 30,000, 000& 30,000
o2Hs =& FHl7Y 20,000, 000& 20,000
A EHHIX & 175,500 149,000 26,500
307 QI2t0IA 175,500 149,000 26,500
03 AHHEXS 175,500 149,000 26,500
OAEAl HESS3 N 3,000,000& 3,000
OAEAIMOISS 2ZH X2 85,000,000 85,000
OttZ2AHaII2ES AMEAIE2E 234l X
. 41,000,000 41,000
Ost=NH=EHU AZAXNF 2EH X
21,500,000& 21,500
OLESLAEAIEAZ K& 3,000, 000& 3,000
OE=RF dxog MEXAE2Z X
7,000,000 7,000
OAEAl HHEHAHNE 28 A2 K&
2,000,000 2,000
OALEAl HEHER3 X 9,000, 000& 9,000
OAMEOIF=sXHEH HF2=0 s
4,000,000 4,000
NS L XA 209,180 209,180 0
301 LptsBazg 1,680 1,680 0
10 HAIAMHIEAZ 1,680 1,680 0
O&IIES NHBSI| R==Arddl X0
1,680,000& 1,680
306 == 7,500 7,500 0
01 &¢3 7,500 7,500 0
Ost=2XNAMEMHE E=H=3 7,500,000& 7,500
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FAM SR
M XYY oAz 25
CHl AlRISIE % AIE EOl RE (SHel: &)
- _ _ HEE
SN SAFA) - MEAD - BES Off &+ o4 0 At of HmsS2
402 QIEX=01 M 200,000 200,000 0
01 BIZAR=Ex 200,000 200,000 0
L2USH PSRIIE S§ FHIIES 0
S0t AP (1002 ) 200,000,000 200,000
HMsSIsHA 2= 1,460,925 1,007,924 453,001
2 19,800
Al 1,441,125
BdsStsHMH 2= 1,460,925 1,007,924 453,001
= 19,800
Al 1,441,125
H2CNBHBAAATRY 39,600 0 39,600
= 19,800
Al 19,800
307 g2Iz2tol & 39,600 0 39,600
= 19,800
Al 19,800
02 QIAANEE 39,600 0 39,600
ORSTAZ HZAIL AFAY
39,600,000 39,600
= 19,800
Al 19,800
HYSISTAl £4 152,941 140,780 12,161
101 1A 10,641 0 10,641
10 JIZH22XNSES 10,641 0 10,641
OBMSSHE 22 10,641
o QIR 32,000 1 »233 7,456
oFXtg 32,0003 1 48! 1,536
oA LY 32,0002 * 1 *15L 480
o=x0lgs S 428 = 8,992, 000& *13% 1,169
201 LErEEH| 53,200 38,200 15,000
01 At222lt| 47,200 38,200 9,000
Ooget =l 17,000,000 17,000
oggsd 20,200
CHMSE AANS Y HHAZ SAR
17,000,000& 17,000
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SN SR
Y BYSISHM 2=
Bl BYSISHM 725 (Ch & 3)
- _ = MU
SN -3 S2ARAH) - MFAY - BES Ol &F 8 Ol AF o8 BlusZ
401 AIZHIKL 204 990,000 0 990,000
01 Al&H] 967,329 0 967,329
CBdsiSHE AHE 967,329,000 967,329
02 Zclyl 16,434 0 16,434
CBdsisHE AE 990,000,0002 *1.66% 16,434
03 A&=Ubl 6,237 0 6,237
CBdsisHE HE 990,000, 0002 *0.63% 6,237
FUNASsHH 28 A& 200,584 690,344 489,760
201 Let=gll 77,000 72,800 4,200
01 AtR2eldl 63,000 58,800 4,200
o2l 42,000
oFQNXIME 2| 42,000,000 42,000
o0zd=+¢ 21,000,000& 21,000
03 "AI=E 14,000 14,000 0
OFLUNASSHH St&T2 NS (FL T
) 14,000,000 14,000
203 €R =AY 4,000 4,000 0
03 AIBZEFTSREXIY| 4,000 4,000 0
OsHs FUXNXMEH YRFA
4,000,000& 4,000
301 2LeEH= 100,584 113,544 212,960
10 YAIABIEH= 7,200 5,760 1,440
OF UMY 2EuE HAL &2 5,640
ocsYuUs 1,440,000 1,440
ok W= 1,600,000& 1,600
oAHdus & A 2,600,000 2,600
OX= FLXXIStSHE Hets 2 244
B A 1,560,000 1,560
12 JIEt2a= 93,384 107,784 214,400
OFQUNAME T2 29 ZAR(SL
T2y dAE S8 75,600,000 75,600
OHXIe T208 A+ (2 - Al )
7,200,000 7,200
OFQITAIME AL 2H2el HEFSAR
10,584,000 10,584
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SMN SR
: oMsY

Chel QITISA W DEEA A CECR-E!
SN HB SR (BIH) - A - B S 0l &b S D=2
BN B O - HSAY - B2 Sh Of] &F o8 e
01 E¢3 800,000 0 800,000
OAEA IMSHESHE EA3
800,000,000 800,000
308 NXIHHSOIH 1,663,192 1,215,304 447,888
06 WSI|IZ0CHetEx=S 1,663,192 1,215,304 447,888
Ostugal AZHl X& 574,732,000& 574,732
OJ0e Mgt So=3 AHE K& 21,960
osEXNY Z&H 21,960,000& 21,960
OLWMsE 202 WAL THE(10Y)
500,000,000 500,000
OsHEYLS SR (199H1)
190,000, 000& 190,000
OxzsgnsE 2Tz 29 X2 (3
o) 45,000,000& 45,000
OZguMELNA 25 2% XA (21)
100,000, 000& 100,000
O0|=2uEstM T2 XJA(5Y)
66,000,000& 66,000
OZ2&A e—class=2 XI&
352,000 »125H 44,000
OZY=Usty SZHME XA(S, 11011)
16,500,000& 16,500
oOZY WA XA (1IHw) 50,000,000& 50,000
O2=0l s X (1) 5,000, 000& 5,000
ogzuwstdM =4 K& 50,000,000& 50,000
ME= 222D Pl 472,000 167,878 304,122
308 NXIHHSOIE 472,000 167,878 304,122
06 WEIIZ0HExS 472,000 167,878 304,122
OWs&d el X (250H1)
462,000,000 462,000
OSEAZ AES D X2 (2IHW)
10,000,000& 10,000
SS=M2 X& 143,000 118,000 25,000
2 52,241
Al 90,759
307 QI2t0IA 48,000 8,000 40,000
= 20,000
Al 28,000




SMN SR
: oMsY

ol QTR Y REHH WA (et9l: &2
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
02 OI2tZAH X 48,000 0 48,000
o2 L 0IseAd2 2|
48,000,000 48,000
= 20,000
Al 28,000
403 XXM SKH201H 95,000 110,000 A 15,000
= 32,241
Al 62,759
02 ZJ/2SOHSCHEEAFS Y] 95,000 110,000 A 15,000
O3 Az b| 78,000,000& 78,000
= 32,241
Al 45,759
OMEZESS W dHENZ HE
17,000,000& 17,000
HESAAH (B2 D) 47,861,825 50,294,482 N2,432,657
OladA=2dH|[&Z] 47,770,225 50, 198,482 N2,428,257
ol 2| 47,770,225 50, 198,482 N2,428,257
101 ©1AH| 37,974,863 40,502,409 N2,527,546
01 222 21,203,848 22,650,070 N 1,446,222
o=s=2 19,750,940
o Al & 69,836
-9s 69,836,000 69,836
o4z 5,150,000& x5 x12& 309,000
obhg 2,940,600 x40 = 12& 1,411,488
o6z 2,512,100& *184H x 12& 5,546,717
o7z 2,132,700 x209H = 12& 5,348,812
o83 1,669,800& x175H x12& 3,506,580
o9z 1,289,900& x131&H 128 2,027,723
oJ|ls102 1,250,700& *32H x12& 480,269
SYNJE= 3,467,500 *3H 128 124,830
SYNEN 2,488,400& *31H «12& 925,685
oaN2 1,452,908
oldz2sd 19,372, 104,000 *1.8/12%50% 1,452,908
02 =% 5,507,925 6,379,897 N871,972
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SN SR
I AY2AFY(S2D)
el o2 [S2] ==
SN -3 S2ARAH) - MFAY - BES Ol &F 8 gl,'igig Husz
Oxz=2R=d 1,805,777
obg 9,796 198 ~40A| 2t~ 12E 89,340
cbs 8,312+ 101& »40A| 2122 402,966
o7z 7,457 1158 «40A 2+ <122 411,627
o8= 6,682 x110& x40A| 2t 122 352,810
=1 5,993 »73& ~40A| 2122 209,995
=Jls108 5,422 x 156 =401 2t %122 39,039
OFSR RS 3,402,148
cItESE 591,707
- B X 40,0002 +811& 0. 78+ 12 303,639
&5 20,0003 8112 *0.40« 122 77,856
- 20,0002 8118 +1.08+ 12 210,212
oMt StHI 2 X% 524,765
-3 51,4002 »811& »0.20*43] 33,349
-1 420,790 8118 «0. 3642l 491,416
odIsgitit= 842,400
—-54~94H 50,0003 ~60& «12& 36,000
- 10&=~144 60,0002« 120« 123 86,400
—15=~194 80,0003 x260& ~12& 249,600
— 20 ~244 110,000 x120E x 122 158,400
-26401& 130,000& »200 » 123 312,000
oS+ XN2R2+E(ENE+E) 960
-EAXS 40,0002 »2H x 123 960
ofg+g 68,400
-3 50,0002 »70E =122 42,000
-5 40,0003 «b5& « 122 26,400
cRHIERASTH 50,0002 8«12 4,800
clisFE+H 750,000, 000& 750,000
cdc|ER+Y 100,000, 0002 9% 9,000
cg¥ZFsg 1,884
-6=2 32,0002 1122 384
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SN SR
N BERAAH (22T
el QERAH [ESE] (el =
S HE - S(EH) - NRAY - BES sk oy e 2
—7=0l3t 25,000 x5« 123 1,500
oXsxH2H+H 40,0003 35 «12& 16,800
oMI|otM 2te| =5 30,000 x5« 122 1,800
=Jl=gdRsd 158,760
-5= 50,0003 x10E x12& 6,000
-6~72 30,000 x180H x12& 64,800
-8~92 20,000& »40H 12 9,600
- A& 60,000 x3Z 123 2,160
— K& A 50,0003 +x31E «12& 18,600
A= 40,0003 1208 12 57,600
coZHRY 34,656,000& 34,656
ocMEAPSH 3,120,000& 3,120
SUNICIE=UN R B R =y 30,000& 45 12 16,200
cflAARH 30,000& 80L& 122 28,800
o MAAR G 50,0003 x5 «12& 3,000
o¥dsY 134,856
—ot= & MYDIIH™elE
230,000& 40H 12 110,400
-—ZhXeld 250,000 «8H 12 24,000
—st=g 38,000 x1H~123 456
ocgHE2RsE 70,0003 179 122 150,360
oAt 11,880
-4 100,000& 1 x 12 1,200
-5 80,000 x2EH « 123 1,920
-6 60,0003 »3H 128 2,160
—7=0l5t 50,000& 118123 6,600
oF0F&H+H 500,000& »7H«12& 42,000
clFItAYH 500,000 1H x12& 6,000
HOE &+ 60,000,000& *10H 600,000
X OH 2 ALY 1,326,000
DA (R, NANEE)
130, 000& +850H 12 1,326,000
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SN SR
I HY2ISH(S2D)
B9l QI 2gH|I[S2] (Shel: & @
- _ = MU
SN -3 S2ARAH) - MFAY - BES Ol &F 8 Ol AF o8 BlusZ
04 WSE2 2 1,278,240 1,313,160 234,920
0455 140,000 44 <12 73,920
06~72 130,000 424 » 122 661,440
08~1028(3&, AAXNEE)
120,000 377 » 122 542,880
05 EZJIHd 2,001,403 2,140,618 139,215
OZESFIHI(Z3Z Z8)
20,014,028,0002 «120%x1/12 2,001,403
06 JHAIXI2bI 3,342,343 3,567,697 A225,354
OJAXNAH(ZE Z&)
20,014,028,0002 16.7% 3,342,343
07 SItE &t 859,117 841,453 17,664
OS2 HHI(ZE, HAXNLE)
20,618,787,000& x1/12%1/30%15& 859,117
08 JIEtAE = 1,173,215 1,192,810 219,595
OFAZEH(319) 877,456
== 1,725,600 *»31¥ » 122 641,924
cdl= 48,145
-d2+g 641,924,000 1.8/ 12x50% 48,145
cItExE 22,619
- B X 40,0002 *31&+0.78+12& 11,607
-E5 20,0002 *31H*0.40«12& 2,976
—-Hi% 20,0003 +318 x1.08+12& 8,036
S E =S, 20,060
-3 51,400 *31& *0.20%42] 1,275
-1 420,790 318 +0.36*4 3] 18,785
odZ+=gltit= 31,200
—-54~94 50,0002 »2E«12& 1,200
—104~144 60,000 8 » 122 5,760
— 15 ~194 80,0008 »13& » 12 12,480
— 20 ~24H 110,000 »3E 122 3,960
—25E 0l 4 130,000 x5 » 12 7,800
oxUZF+H 113,508
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SN SR
HM: Y 2HHH (S2)
el Qa2 Yy [E2] (&2l &e
_ _ bSNE =
2AH -3 - SH2A(SH) - MEAMY - BHES 0] At oH Ommou BlusSZ
— A2 2R%E
6,342 %27 +40A| 2+ 12& 82,193
—oft2esy
2,114 x3H 80 Al 2tx 128 6,089
-soz2esy 47 7752+ 11H 4L «12& 25,226
O™ H A 295,759
oS (ASHH) 295,759
= 43,884,000 »2H 87,768
= 38,501,000 «1H 38,501
= 33,898,000 «5H 169,490
09 DIHAZ2ZXE S 1,282,772 1,061,064 221,708
LIH2E2X =2 560,000,000 560,000
ORIIHAZ2 X 2AX 24| 20,000,000 20,000
ORINHAZZX 4B 2
4,493,015, 0002 *13% 584,092
OR=4l 242/(3Y) 45,840
o2z 32,0002 *3& «2552 24,480
oM 2 24,480,000 +4/12 8,160
e P N = 24,480,000 *10% 2,448
S | 32,0002 x3H »522 4,992
ottt 32,0002 *3% » 15 1,440
o A2HQ2RLY
6,000 x3H 20 A| 2t 122 4,320
ONE 2t2](1Y) 13,840
o2z 32,0002 12 2552 8,160
oat 2 8,160,000 x4/ 12 2,720
D N = 8,160,000 x10% 816
oRgasdUsrd 32,0002 x 12 %522 1,664
o IR 32,0002 x 1 x152 480
OTFUAY xe2|=(3Y, 7.18 ) 31,320
ollea 41,7802 *3% %130 16,295
SIS 16,295,000 *2/6 5,432
e DN = 16,295,000 *10% 1,630
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SN SR
A HH2IFGH(BR2N)
chol: o2 oyl [E2] (o e
DA - EH O (5) - HRAIY - HH2 0l & 2 Soe HDS2
ocReFYsY 41,7803 x3Y x26 ! 3,259
o ARt 41,7803 x3H x 15 1,881
oAZ2A2R2Y 7,8403 x3Y x20A| 2t 6 2,823
OCIADIE 221(1Y) 13,840
oJlE3z 32,000 1 255! 8,160
SRS =) 8,160,000& *4/12 2,720
o2 HItaZ 8,160, 000& = 10% 816
ocRsFYsY 32,0003 x1H »52 1,664
oAXtg 32,000& x1H 15 480
OE&A 2e2l(1Y) 13,840
oJllez 32,0003 1 255! 8,160
o2 8,160,000& *4/12 2,720
o dHIMAZ 8,160, 000& = 10% 816
ocReFYsY 32,0003 »1H x52 1,664
o4 32,000 x1H 15 480
203 ALEAY| 107,385 81,570 25,815
01 J|I22IHRFE| 82,500 56,000 26,500
OA|I & 79,200,000& 79,200
0Os2= 29 3,300,000& 3,300
02 HAINMYRFEHI 20,205 20,710 AB05
O&AJAIIEE B 20,205,000& 20,205
04 EN2ILRFLEY| 4,680 4,860 A 180
OFNMEY HRFLH|
(350,000 «12& )+(5,000& *8H «12& ) 4,680
204 X HH| 1,951,740 2,012,760 261,020
01 H¥SHRHAY| 97,200 101,400 A4,200
OA|I & 650,000 = 12& 7,800
ORAE 400,000& x12& 4,800
©4= 17,400
oJ| 2 400,000 x1H «12& 4,800
o XxJ|& 350,000& *3H =12& 12,600
o532 58,200

_24_




SN SR
A HH2IFGH(BR2N)
chol: o2 oyl [E2] (o e
DA - EH O (5) - HRAIY - HH2 0l & 2 Soe HDS2
ol &E 150,000 * 15 x12& 27,000
o8B XDl 100,000& 26 x12& 31,200
Ob=(EELF) 100,000& *1H = 12& 1,200
023 d=z2A 3,000
ob= 100,000& 2 x12& 2,400
o663 50,0003 x1H = 12& 600
oRs-H¥ 50,000& x8H x12& 4,800
02 A==2xHl 1,390,620 1,421,040 230,420
OAl & 500,000 x1H «12& 6,000
ORAIHE 450,000& x 19 =128 5,400
0©4= 400,000 x4H «12& 19,200
Ob5= 250,000 *43H = 12& 129,000
o6= 155,000 2178 12& 403,620
o722 140,000 x210E «12& 352,800
©8~9= 105,000& *311H +12& 391,860
0J1s103 95,000 32 = 12& 36,480
(OF=F= 105,000 *31H x12& 39,060
oOmWAZ=2 At 300,000& »2H +x12& 7,200
03 SEZLRHESH| 463,920 490,320 226,400
CZAEY R+ 80,000 x5H 122 4,800
ONSREY a2+3 100,000 *53% x12& 63,600
ONAEY P 150,000& 6 x12& 10,800
oOYg=ReEY g2+ 50,000 x4H = 12& 2,400
O2H - HY SR+ 50,0003 x8H »12& 4,800
oMY R+ 50,000 x4H = 12& 2,400
O=A2)] g2 100,000& 1+ 12& 1,200
CrHE=E R+ 100,000& «*5H = 12& 6,000
OSRAHM g2+ 60,000& x1H 12 720
Ot syl 50,000 x612EF = 12& 367,200
303 EAZ 2,188,120 1,968,930 219,190
02 AN 2,188,120 1,968,930 219,190
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FA S0
I HY2ISH(S2D)
B9l QI 2gH|I[S2] (Shel: & @
- _ = MU
SN -3 S2ARAH) - MFAY - BES Ol &F 8 Ol AF o8 BlusZ
o4duad= 1,989,200,000& *110% 2,188,120
04 A=SFE=S 5,485,617 5,570,313 A\ 84,696
01 H=*FE=s 4,556,174 4,472,298 83,876
OHs=FE= 23,063,276,000& *15.2850% 3,525,222
oflx+g 283
23,063,276,000& *4.2491% 979,982
OMoiEd 2= 23,063,276,000& +0.221% 50,970
02 =UALEE= 929,443 1,098,015 A 168,572
O=LUAAEE BL3
38, 196,849,000 *2. 385% 910,99
OxQFIIQALE 2443
910,995,000 *2.025% 18,448
307 21Z2tol & 62,500 62,500 0
07 gd=Xs8s 62,500 62,500 0
O=REMNEZe =8¢ 2,500,000 »25& 62,500
Jl2d 91,600 96,000 24,400
Jl=dl 91,600 96,000 24,400
201 Ler2gy 10,000 12,000 A2,000
01 At 2telbl 10,000 10,000 0
oge+3t| 10,000,000 10,000
202 OfH] 81,600 84,000 A2,400
01 =UW0odHI 81,600 84,000 A2,400
CZUWEZ0YI 81,600,000 81,600
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